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SINAVLA iLGILi UYARILAR:

Bu smav ¢oktan segmeli 40 adet sorudan olugsmaktadir, siire 75 dakikadir.
Her sorunun sadece bir dogru cevabi vardir. Dogru cevabinizi, cevap kagidimzdaki ilgili kutucugu tamamen karalayarak
Isaretleyiniz. Soru kitapgigmdaki hig bir isaretleme degerlendirmeye alimmayacaktir.

Her soru esit degerde olup, dort vanhs cevap bir dogru cevabi gétiirecektir. Bos birakilan sorularin degerlendirmede olumlu
ya da olumsuz bir etkisi olmayacaktir.
Sorular zorluk sirasnda DEGILDIR. Dolayistyla yanitlamaya gegmeden 6nce biitiin sorulari gézden gegirmeniz onerilir.

Soru kitap¢igindaki bosluklari karalama igin kullanabilirsiniz.

Sinav siiresince gorevlilerle konugulmasi ve soru sorulmasi, 6grencilerin birbirlerinden kalem, silgi vb. seyler istemeleri yasaktir.
Smava giren adayn bir soruya itiraz etmek istemesi durumunda, smav sorular1 ve cevap anahtar1 TUBITAK’mn internet
sayfasinda (https://bilimolimpiyatlari.tubitak.gov.tr) yaymlandiktan sonra 7 isgiinii icerisinde, kanitlar ile birlikte, TUBITAK a
bagvurmasi gerekir. Bu tarihten sonra yapilacak bagvurular isleme konmayacaktir. Sadece sinava giren adayn sorulara itiraz hakki
vardir, tglnci kigilerin simav sorularina itirazi isleme alinmayacaktir.

TUBITAK Bilim Olimpiyati-Birinci Asama Sinavi’nda sorulan sorularm iigiincii kisiler tarafindan kullamilmasi sonucunda
dogacak olan hukuki sorunlardan TUBITAK ve Atatiirk Universitesi sorumlu tutulamaz. Atatiirk Universitesi, bu tip durumlarda
sorular ile ilgili goriis bildirmek zorunda degildir.

Sinav sirasinda kopya ¢eken, gekmeye tesebbiis eden ve kopya verenlerin kimlikleri sinav tutanagina yazilacak ve bu kisilerin sinavlari
gecersiz sayilacaktir. Gorevliler kopya ¢ekmeye veya vermeye kalkiganlart uyarmak zorunda degildir, sorumluluk size aittir.

Sinav bagladiktan sonraki ilk yarim saat i¢inde sinav salonundan ayrilmak yasaktir.

Sinav siiresince sinava giris belgenizi ve gegerli bir kimlik belgesini masanizin tizerinde bulundurunuz.

Sinav salonundan ayrilmadan 6nce cevap kagidinizi ve soru kitapgigini gorevlilere teslim etmeyi unutmayiniz.

Basarilar dileriz.
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1. Which of the activities listed below has less potential to cause an earthquake in terms of environmental
impacts than the others?

A) Using groundwater above capacity in an area where karst aquifers are common.

B) Deforestation of a large forest area and its transformation into an industrial zone.

C) Realization of intensive coal production within the scope of underground mining.

D) Conducting geothermal drillings that may trigger volcanic activity within a caldera.

E) Feeding groundwater by channeling and leaking surface water into the discontinuity zone formed
by one of the active faults.

D

Flood hydrographs of two neighboring rivers in the same period are shown above. Assuming that the
hydrological conditions are the same, which of the following can be said?

A) The length of river a is shorter.

B) The annual average flow rate of river b is higher.

C) There are more impermeable grounds in the basin of the river a.
D) The basin of river b is more rounded than that of river a.

E) Vegetation is sparser in the basin of the river a.

3. Which of the following would be more accurate to consider as the three priority indicators for
determining the location where groundwater can be reached in an area where there is no surface water
source and lacks technical facilities?

A) Elevation — land use — soil

B) Temperature — vegetation — precipitation

C) Geomorphology —soil — land use

D) Precipitation — evapotranspiration — elevation
E) Vegetation — lithology — geomorphology
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4. Climate migration is a subset of climate-related mobility that primarily refers to voluntary movement
under the influence of abnormally heavy rainfall, prolonged droughts, desertification, environmental
degradation, or sudden or gradual climate-intensified disasters such as sea level rise and cyclones. Most
climate migrants move within their own countries, but a small number of climate displaced people also head
to different countries (UNHCR).

Accordingly, in which of the following countries can it be said that searching for a new country in the face
of climate change is a more obligatory choice?

A) Maldives
B) Niger
C) Singapore
D) Nepal
E) Chad

5. It states that anthropogenic factors have had a significant impact on the movement of Earth's materials
and the alteration of landforms over the last two centuries. Human activities, particularly mining and
construction, have been effective in changing the Earth's surface.

According to the text, which of the following best illustrates the impact of human activity on
geomorphology?

A) Natural erosion by rivers

B) New islands formed as a result of volcanic activity
C) Open pits formed as a result of mining activities
D) Moraines transported by glaciers

E) Dunes formed by wind erosion

6. The formation and evolution of landforms is the result of complex and variable factors and processes at
the surface of the lithosphere. Topographic forms are specified as a function of structure, process and time.

According to the text, we can say that the formation and evolution of landforms are most closely linked
to which factor?

A) Climatic changes

B) Biological factors

C) Tectonic structure and lithological features
D) Human activity

E) Changes in sea level
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7. River flow patterns are realised in two main ways: as water falling on the earth in the form of precipitation
flows along a specific bed, or by covering the topographical surface like a layer. Linear flow is the movement
of rivers following the valley bottoms, while surface flow is in the form of floods that cover the slopes like a
blanket.

According to the above explanation, which of the following is a characteristic of linear flow?

A) Formation of a flat layer on the surface of the river
B) Follow the river valley

C) Spreading evenly over the topography

D) Ponding of water on slopes

E) Free movement of water on the Surface

8. "Sustainable development aims to meet the needs of the present without compromising the ability of
future generations to meet their own needs. It is an approach that integrates environmental protection,
economic efficiency and social equity. Sustainable development promotes the rational use of resources and
the long-term health of the environment.

According to the text, the main objectives of sustainable development are which of the following?

A) Short-term economic gain

B) Limiting technological development
C) Rational use of resources

D) Increasing industrial production

E) Ignoring social justice

9. The tropical region around the equator, ranging from 23°27’ north to 23°27’ south latitude, experiences
a consistent summer-like climate due to the sun's rays arriving at large angles throughout the year. It takes
four days for the sun's rays to cover each parallel range.

Accordingly, at which of the following latitudes on October 13 will no shadow be cast on objects at noon?

A) 5°S
B) 5°N
C)10°S
D) 10°N
E) 0°
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10. There are certain things in life that you can deduce as relative ages. For example, if you know that your
friend has an older and a younger brother, you can infer their relative ages, even if you don't know their
actual ages. Information about the relative ages of things that have happened on Earth is preserved in
sedimentary rock layers. Relative age refers to the approximate age of a specific rock layer, which is
determined by comparing its position to other rock layers. The process used to establish whether a rock
layer or a geologic event is older or younger than the other without knowing their specific ages is called
relative dating.

Based on information, which sequence places the rock layers and events in order from oldest to youngest?

Units: A-granite intrusion, H-fault and everything else is a sedimentary rock

A) H-E-G-L-C-M-D-J-A-N-K-B-F
B) E-G-L-C-H-M-D-J-A-N-K-B-F
C) A-H-E-G-L-C-M-D-J-N-K-B-F
D) A-E-H-G-L-C-M-D-J-N-K-B-F
E) F-B-K-N-J-D-M-C-L-E-G-H-A

11. The oceans are currently experiencing various negative impacts due to climate change. These include
warming, loss of oxygen, acidification, changing currents, and rising sea levels.
Which of the following are not significant contributors to sea level rise?

A) Melting ice sheets

B) Increased precipitation

C) Thermal expansion

D) Ocean sediment accumulation
E) Melting seaice

12. The region with the highest forest upper limit in Turkey is Eastern Anatolia with 2800 meters. Which
of the following is the cause of this situation?

A) Continentality
B) Precipitation
C) Slope

D) Humidity

E) Aspect
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13. Plants in cold regions adapt to protect themselves from frost damage by producing starch, sugar, and
oil, shedding leaves, and using resins as insulation. Protecting plants from frost is an important aspect of
applied climatology. Which of the following is not a means of protecting plants against frost?

A) Planting on the valley floor

B) Painting the soil white

C) Covering the crop

D) Heating the lower air layer

E) Using devices that produce artificial fog

14. Various gases in the Earth's atmosphere allow some of the heat (infrared radiation) radiated from the
earth into space to return to the earth. Carbon dioxide is one of the gases that has an effect on infrared
radiation by first absorbing it and then re-emitting it. If there was no carbon dioxide in the Earth's
atmosphere, which of the following could be said about the temperature of the Earth's surface?

A) The amount of oxygen in the atmosphere determined the surface temperature.

B) The temperature would be higher than today's surface temperature.

C) The temperature would be less than today's surface temperature.

D) Carbon dioxide has no effect on surface temperature.

E) Since the angle of incidence of the sun's rays did not change, it would be the same.

15. The envelope of gas surrounding the Earth changes from the ground up. Five distinct layers have been
identified using thermal characteristics (temperature changes), chemical composition, movement, and
density. Known as the lower atmosphere, almost all weather occurs in this region. The troposphere begins
at the Earth's surface, but the height of the troposphere varies. It is 18-20 km high at the equator, 9 km at
50°N and 50°S, and just under km high at the poles. The temperature in the troposphere also decreases
with height. As one climbs higher, the temperature drops from an average around 15°C to -51°C at the top
of the troposphere. Which of the following is the reason why the upper part of the troposphere is colder
even though it is closer to the sun?

A) The heat emitted from the earth warms the lower layer of the troposphere

B) The troposphere is heated by the energy radiated from the ground rather than the sun
C) Human activities warm the lower layer of the troposphere

D) Sun rays are of different wavelengths

E) Presence of ozone layer in the troposphere
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16. Even though they are in the same climate region, continentality causes differentiation in climate
elements. The distribution of precipitation and temperature changes throughout the year. Which of the
following is not a climate characteristic of a continental region?

A) The annual temperature difference is large.

B) Daily temperature difference is high.

C) Precipitation is higher than in maritime areas at the same latitude
D) Summer is the rainiest season.

E) During the cold period, precipitation is usually in the form of snow.

17. Which of the following is the South Asian Country where we see 5 of the world's 14 highest hills, the
Indus River and landforms on the map below?
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A) Bangladesh
B) India

C) Myanmar
D) Pakistan
E) Nepal
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18. Natural disasters involve spatial differences, and the most important vulnerability within the scope of
vulnerability to natural disasters is related to sustainability. Sustainability is directly proportional to the

socio-economic levels of countries. Based on this information, which of the following country pairs are
vulnerable to natural disasters?

A) Canada- Mexico

B) Bangladesh- Philippines
C) Niger-Japan

D) Australia-New Zealand
E) Hungary-Netherlands

19. Mass movements may develop faster in sloping lands due to physical dissolution processes. It is of

primary importance to recognize the conditions that cause slopes to become unstable and the factors that
trigger movement.

According to this information, which factors are not necessary to know for susceptibility to
slipping?

A) Geological structure of the slope,

B) Lithology of the rocks,

C) Hydrogeological conditions

D) Population development

E) Stage of morphological development of the area

20. Thomas Malthus was an 18th-century English economist and demographer. Malthus' theory of
population suggested that the human population was increasing faster than the rate of increase of the
resources we have, and claimed that this situation would lead to resource scarcity and poverty over time.

How can it be explained that despite the passage of time, the world has not experienced a serious
resource shortage despite witnessing a huge population increase?

A) High Death Rate

B) Technological Advances and New Methods in Resource production and Use
C) Existence of Institutions like United Nations etc.

D) Increasing National Income per Capita

E) Low Birth Rate
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21. Which of the following is the main water source of the Panama Canal?

A) Pacific Ocean
B) Atlantic Ocean
C) Gatun Lake

D) Chagres River
E) Lake Superrior

22. Both the Panama and Suez Canals have recently experienced events affecting global shipping. Which
of the following is not a common factor affecting both channels?

A) Increased ship traffic

B) Piracy

C) Infrastructure deficiencies
D) Ship Accidents

E) Environmental Pollution

23. Tourism carrying capacity is defined as the ability of a destination to sustain tourism activities. In other
words, tourism carrying capacity is the limits of the destination.

According to this; What are the possible consequences of exceeding the Tourism Carrying Capacity in a
Destination?

A) Higher Environmental protection

B) Higher Tourist satisfaction

C) Overuse of resources and environmental destruction
D) Strengthening the local economy

E) Growth in National Income per Capita

24. In which of the following regions rapid population growth creates difficulties in terms of infrastructure
and resources?

A) West Europe

B) Sub-Saharan Africa
C) Australia

D) Japan

E) North America
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25. Which of the following is not one of the negative effects that may occur in the environment during
the extraction of coal in open pits?

A) The structure of the landforms in the region is disrupted.

B) Underground and surface waters are polluted.

C) Asignificant amount of dust is released into the environment.
D) Plant species in the mine basin are damaged.

E) A large amount of carbon dioxide is released into the air.

26. Which of the following changes that will occur after the construction of a large dam and hydroelectric
power plant requires a longer process than the others?

A) Reducing floods caused by rivers

B) Increasing productivity and diversity in agricultural products
C) Softening of the Regional Climate

D) Change in socio-cultural structure

E) Change in settlement texture

27. Which of the following is among human-made attractions in terms of tourism and recreation
attractions?

A) Theme parks

B) National parks

C) World heritage sites
D) Wetlands

E) Lakes
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28. What is the name of the strait separating the two continents on the Google map which also includes
areas such as the Palme de Mallorca and the Maspalomas islands?

A) Strait of Hormuz
B) Strait of Magellan
C) Bering Strait

D) Strait of Gibraltar
E) Strait of Malacca

29. Gentrifikasyon, genellikle ekonomik olarak az gelismis bir mahalledeki gayrimenkul degerlerinin artmasi
ve buna bagli olarak daha yiksek gelirliinsanlarin bu mahalleye tasinmasi siirecidir. Bu siire¢ genellikle yerel
halki yerinden eder ve mahallenin sosyal dokusunu degistirir.

Gentrifikasyon siirecinde alanda yagayan diisiik gelirli insanlarin karsilagabilecegi sorunlar nelerdir?

A) Daha iyi egitim olanaklarina erisim

B) Konut maliyetlerinin artmasi ve yerinden edilme riski
C) Yerelis olanaklarinin artmasi

D) Toplumsal hizmetlerin iyilesmesi

E) Ulasim problemleri
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30. Bolge, cografi, siyasi, kiltirel veya ekonomik acidan birbirine benzer oldugu icin bir araya gelmis bir alani
ifade eder.

Buna gore asagidakilerden hangisi digerlerinden farkh bir bolge tiriidiir?

A)
B)
C)
D)
E)

Organize Sanayi Bolgesi
Ticaret Bolgesi

Politik Bolge

Kutup Bolgesi

idari Bolge

31. “iklim degiskenliginin en yaygin gdzlendigi alanlarin basinda Akdeniz Havzasi gelir. iklim degiskenliginin
en belirgin etkilerini ekstrem (asiri) hava olaylarinin daha sik yasanmaya baslamasiyla gdzlemleriz” seklinde
konusan bir iklimbilimci hangi iklim elemanindan bahsetmemektedir?

A)
B)
C)
D)
E)

Yagis

Sicakhk

Ruzgar
Buharlasma
Guneslenme siresi

32. Alaska’dan Hindistan’a dogru yola ¢ikan bir osinografik arastirma gemisi hangi rotayi kullanirsa karaya
ugramadan, dogrusal bir hat iizerinde seyretmis olur?

A)
B)

C)
D)
E)

33.

A)
B)
C)
D)
E)

Pasifik Okyanusu- Drake Bogazi- Atlas Okyanusu- Madagaskar dogusu- Hint Okyanusu

Panama Kanali- Atlas Okyanusu- Cebelitarik Bogazi- Akdeniz- Stiveys Kanali-

Babllmendep Bogazi- Hint Okyanusu

Berring Bogazi- Bliylik Okyanus- Malakka Bogazi- Hint Okyanusu

Hudson Korfezi- Atlas Okyanusu- Cebelitarik Bogazi- Korint Kanali- Stiveys Kanali- Hint Okyanusu
Hudson Kérfezi- Atlas Okyanusu- Umit Burnu- Madagaskar Dogusu- Hint Okyanusu

Asagidaki bolgelerden hangisinde Kes ve Yak Tarimi en yaygin olarak uygulanmaktadir?

Kuzey Amerika

Avrupa

Tropikal Yagmur Ormanlari
Bozkirlar

Kutup Cemberi

11
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34. Uzaydaki uydular bir yandan glinesten gelen enerjiyi 6lgerken bir yandan da dinyadan uzaya sagilan
enerjiyi 6lcmektedir. 1971’den bu yana yapilan uydu 6l¢iimleri diinyaya gelen enerjinin giden enerjiden
daha fazla oldugunu gostermektedir.

Sicakhga etki eden faktorler g6z oniinde bulunduruldugunda bu enerji fazlahgi en fazla nerede
saklanmaktadir?

A) Havanin isinmasinda

B) Topragin isinmasinda

C) Okyanuslarin isinmasinda
D) Kutuplarin isinmasinda
E) Tropiklerin isinmasinda

35. Toplumun tamami veya belli kesimleri igin fiziksel, ekonomik ve sosyal kayiplar doguran, normal hayati
ve insan faaliyetlerini durduran veya kesintiye ugratan, etkilenen toplumun bas etme kapasitesinin yeterli
olmadigli doga, teknoloji veya insan kaynakli olaya afet denir. Afet bir olayin kendisi degil, dogurdugu
sonugtur (AFAD).

Buna gore, asagidakilerden hangisi bir afet olarak degerlendirilemez?

A) izlanda’da meydana gelen volkanik aktivite sonucu Kuzey Avrupa’da gokyiiziiniin giinlerce kalin bir
kil bulutuyla kaplanmasi ve uguslarin iptal edilmesi.

B) Erzincan’daki bir maden sahasinda depolanan milyonlarca metrekiip topragin kayarak baraka ve
kamyonlardaki iscileri toprak altinda birakmasi.

C) Capi 100m’yi bulan bir asteroidin atmosferi gecip Antarktika’nin giiney kesimine carparak kara
buzulu Gzerinde Paris sehrini icine alabilecek ¢apta ve 1,6 km derinliginde bir krater olusturmasi.

D) Sili'de 7.8 (Mw) buyukluglindeki bir depremin ardindan meydana gelen 6.9 (Mw) buyuklGglindeki
artci sarsintiyla Santiago’da aralarinda hastanelerin de oldugu ¢ok sayida binanin yikilmasi.

E) ABD’de arilari yok eden salgin neticesinde cicekli bitkilerde tozlasmanin gerceklesememesi.

36. Topografya sekillerinin zamanla olan iliskisini acgiklarken, kiglik bir akarsuyun genis ve derin bir vadiyi
kazmis olabilir. Zamanin etkileri, 6zellikle uzun dénemlerde, yerkabugunu ve sekillerini blylk olg¢lide
degistirebilir.

Metindeki agiklamalara gore, zamanin topografya sekilleri lizerindeki etkisi agagidakilerden hangisiyle en
dogru sekilde agiklanabilir?

A) Ani ve siddetli jeolojik olaylar

B) Kisa donemli iklim degisiklikleri

C) Uzun doénemde kiimulatif etkiler

D) Hizli erozyon ve sedimentasyon sirecleri

E) insan faaliyetlerinin hizlandirdig degisimler

12
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37. Sicakligin dagilisinda pek cok faktor etkilidir. Enlem, yikseklik, baki gibi faktorler yaninda yizey
ortusinun ozellikleri de sicakhk tGzerinde etkilidir. Agik bir yaz glinlinde, ayni miktarda glines enerjisi alan bir
su kitlesinin ylizeyi yakindaki kuru toprak ylizeyinden daha soguktur.

Bunun nedeni asagidakilerden hangisiyle iligkilidir?

A) suyun Uzerinde glineslenmenin daha az olmasiyla
B) topragin daha fazla glines 15181 yansitmasiyla

C) topragin daha yiksek yogunluga sahip olmasiyla
D) suyun daha yiksek 6zgil 1stya sahip olmasiyla

E) suylzeyinin daha genis alan kaplamasiyla

38. Cesitli nedenlerle Ulkeler zaman icerisinde isimlerini degistirebilmektedir.
Asagidaki lilkelerin eski ve yeni isim eslemesinde hangi cevap segenegi hatalidir.

A) Holland — Netherlands
B) Cek Cumhuriyeti — Cekya
C) Hindistan- Bharat

D) Rodezya- Eswatini

E) Alto Volta- Burkina Faso

38. Antropojenik nedenlere bagl olarak artan iklim degisikligi etkisi kisa vadede yasami tehdit ederken,
uzun vadede goriilen degisimler de Diinya'nin ekolojik déngt silireclerine etki etmistir.

insanin gevreye olan dogrudan etkileri asagidakilerden hangisi degildir?

A) Ulasim (karayolu, demiryolu, havaalani insaati vb.)
B) Tarimsal aktiviteler

C) Toprak olusum siirecindeki degisim

D) Baraj insaati (icme, sulama, hidroelektrik amacgli)
E) Vejetasyon degisimi

40. iklim degisikligi nedeniyle lkelerin risk profilleri gecmise gore degismektedir. Bircok ilke yeni
tehlikelerle karsi karsiya kalmaktadir.

iklim degisikliginin etkilerine maruz kalma nedeniyle riskleri gecmise gére artan iilke asagidakilerden
hangisi olabilir?

A) Angola
B) Hollanda
C) Kenya
D) Gana
E) Zambiya
SINAVINIZ BITMISTIR.
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